Q.1 Tick the correct answers :

REVISION TEST - |

1. The greatest 4-digit number using the digits 4,7, 6, 2 only once is :

(a) 4,762 (b) 6,427 (c) 7,642

2. The successor of 17,28,999 is :

(a) 17,29,000 (b) 17,39,000 (c) 17,28,000

Q.2 Fill in the blanks :

Hundreds

.. Thousands

Q.3 Match the following :

1. 3,45,21,437

2.1,02,34,568

(i) 5crores
(ii) 5 lakhs
(iii) 60

Q.4 Find the Predecessor of :

1. 6,56,32,140

(2) 26,983,100
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Q.5 Write the Hindu Arabic numeral for the following Roman numeral :.

1.XXX  (2) LV (3) LXV

Q.6 Fill in the missing numbers to continue the pattern :

1. 58,21,057;58,22,057 ; ...ccceevrereenees § erenrerereeeeereennns 5 erereneeeeeeenennennns

2. 60,21,761;60,21,861 ; ......cccceeveeenee 5 eeeeneeeeeeeseenennns 5 eemererereeseesenenanes

Q.7 Write the following numbers in the expanded from :

1. 26,72,60,256 (2) 67,95,30,531

Q.8 Write each of the following numbers in figures :

1. Four hundred ten thousand, seven hundred nine

2. Sixty three million, seven thousand, five hundred four



